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PN GONE! WkE % i i} N
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e (©) 16. 4 10.5 18.5 17.9
K () 11. 4 11.8 15.6 13.2
S8l SRR e A SRR =R
T (PIRE) 1 R 55 R 55 R gl
B (BE) 34.7 50.0 LLk| 50.0 LLE| 50.0 MBIk
2= AFWAVR W= (ng/1) 2 ES 2 ES 2 ESC 2 ESC
A AI v (ng/1) 2 2 2 ES(] 2 EN]
bR larES (mg/1) 0.0002 A - 0.0002 Aiifi -
1, 1=V Jnnzfvy (mg/1) 0.002 A — 0.002 A —
vi-1,2-Y" Junzfly  (mg/1) 0.004  Aifs - 0.004  Aifs -
A= 0=0 % 0% (mg/1) 0.002  Aifs - 0.002  Aifs -
7h7ymnzfly (mg/1) 0.001 =Kiif§ - 0.001 A -
NPAEES (mg/1) 0.003  Aifs - 0.003  Aifi -
S (mg/1) 0.001 il — 0.001 A —
1,2-Y" Jnnzfy (mg/1) 0. 0004 A — 0. 0004 A —
NvA-1, 2=V Jenxfly  (mg/1) 0.004  Aifs - 0.004 i -
1, 1,2-})yunzyy (mg/1) 0.0006 A — 0.0006 A —
ks (mg/1) 0.01  Aifs - 0.01  Aifs -
1, 1, 1=})yunzyy (mg/1) 0.01 A — 0.01 A —
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K (C) 13.2 12.9 16.9 17. 4 16.0
S8 R IR T (4 ) SRR SRR C=RERe SRR
R (PIRE) R 55 R 55 R 55 R 55 R
DR (::9) 33.8 50.0 LIkl 50.0  BAE| 50.0 BLE| 50.0 LIk
2= FWAVE WA= (ng/1) 2 ESC 2 ESC 2 ESC 2 ESC 2 ESC
VA AIYV (ng/1) 2 i 2 ESL] 2 S 2 2
bR larES (mg/1) 0.0002 A - 0.0002 Aiifi - -
1, 1=V Jnnzfvy (mg/1) 0.002 A — 0.002 A — —
vi-1,2-Y" Junzfly  (mg/1) 0.004  Aifs - 0.004  Aifs - -
A= 0=0 % 0% (mg/1) 0.002  Aifs - 0.002  Aifs - -
7h7ymnzFly (mg/1) 0.001 =Kiif§ - 0.001 A - -
NPAEES (mg/1) 0.003  Aif - 0.003  Aif - -
S (mg/1) 0.001 il — 0.001 A — —
1,2-Y" Jnnzfy (mg/1) 0. 0004 A — 0. 0004 AJiii — —
NvA-1, 2=V Jenxfly  (mg/1) 0.004  Aifs - 0.004 i - -
1, 1,2-})yunzyy (mg/1) 0.0006 A — 0.0006 A — -
ks (mg/1) 0.01  Aifs - 0.01  Aifs - -
1, 1, 1=})yunzyy (mg/1) 0.01 A — 0.01 Kl — -
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e (C) 22.3 21.8 22.2 21.2
K () 18.5 16. 7 19.7 20.5
S8l 2 (4,375 ] SRR 3 =RENe IR B
R () FHHELR FHHELR 55 R 55 5
DAL (F) 50.0 LAkl 50.0  BLE[ 50.0  PLk| 3.2
2= AFWAVR - (ng/1) 2 ES 2 EN] 2 ESC 3
VA AIYV (ng/1) 2 ST 2 NG 2 ST 4
DU Mg Ak 35 (mg/1) 0.0002 A - 0.0002 Aiifi -
1, 1=V Jnnzfy (mg/1) 0.002 A — 0.002 A —
vi-1, 2=V Junzfly  (mg/1) 0.004  Aifs - 0.004  Aifs -
A= 0=0 % 0% (mg/1) 0.002  Aifs - 0.002  Aifs -
7h7ymnzFly (mg/1) 0.001 =Kiif§ - 0.001 A -
NPAEES (mg/1) 0.003  Aif - 0.003  Aif -
_oRr (mg/1) 0.001 =Kiif§ - 0.001 A -
1,2-Y" Jnnzfy (mg/1) 0. 0004 A — 0. 0004 AJiii —
NvA-1, 2=V Jenxfly  (mg/1) 0.004  Aifs - 0.004 i -
1,1, 2-p)ymuzhy (mg/1) 0.0006 A — 0.0006 A —
ks (mg/1) 0.01  Aifs - 0.01  Aifs -
1,1, 1=}y ymuzhy (mg/1) 0.01 A — 0.01 A —
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PR () 47.1 26. 0 50.0  LLH 500 LIk
2-AFWAIE WA= (ng/1) 2 EN( 2 ARl 2 ARl 4
A AI (ng/1) 2 ARl 2 AR 2 3
VU Mg Ak 35 (mg/1) 0.0002 A - 0.0002 Al -
1, 1=V Jnnzfy (mg/1) 0.002 A — 0.002 A —
yA-1, 2=y Juuzfby  (mg/1) 0.004  Aifs - 0.004 i -
A= 0=0 % 0% (mg/1) 0.002  Aifs - 0.002 A -
7h7ymnzFly (mg/1) 0.001 A - 0.001 A -
NPAEES I (mg/1) 0.003  Aif - 0.003 i -
NP (mg/1) 0.001 A — 0.001 A —
1,2-Y" Jnnzfy (mg/1) 0. 0004 A — 0. 0004 AJiii —
NvA-1, 2=V Jenxfly  (mg/1) 0.004 i - 0.004 i -
1,1, 2-p)ymuzhy (mg/1) 0.0006 A — 0.0006 A —
ks (mg/1) 0.01  Aifs - 0.01 i -
1,1, 1=}y ymuzhy (mg/1) 0.01 A — 0.01 A —
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K (C) 26.0 27. 4 27.3 24.5 25.5
S8 C=RENe SRR 2 (4,575 1] HH R B (. SRR
A (PIRE) FIHELR 55 R 55 R 55 R 55 R
B () 50.0 LIkl 50.0  BAE| 50.0  BLE|[ 13.0 50.0 LIk
2= AFWAVR W= (ng/1) 2 ARl 3 2 il 3 2 ES
VaxFAIv (ng/1) 2 K| 2 2 4 2 At
bR larES (mg/1) 0.0002 A - 0.0002 Aiifi - -
1, 1=V Jnnzfvy (mg/1) 0.002 A — 0.002 A — —
vi-1, 2=V Junzfly  (mg/1) 0.004  Aifs - 0.004  Aifs - -
A= 0=0 % 0% (mg/1) 0.002  Aifs - 0.002  Aifs - -
7h7ymnzFly (mg/1) 0.001 =Kiif§ - 0.001 A - -
NPAEES (mg/1) 0.003  Aif - 0.003  Aif - -
S (mg/1) 0.001 il — 0.001 A — —
1,2-Y" Jnnzfy (mg/1) 0. 0004 A — 0. 0004 AJiii — —
NvA-1, 2=V Jenxfly  (mg/1) 0.004  Aifs - 0.004 i - -
1, 1,2-})yunzyy (mg/1) 0.0006 A — 0.0006 A — -
ks (mg/1) 0.01  Aifs - 0.01  Aifs - -
1, 1, 1=} Junzpy (mg/1) 0.01 A — 0.01 A — -
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KR (C) 24. 8 22.3 19.5 21. 4
418 Y SRR SRR o S £ 1 SRR
FLA () FHHER R 55 R R
B 0i9) 50. 024 50. 024 17.6 50. 0LA
2= FWAVR WA= (ng/1) 2 Al 2 Al 2 Al 2 Al
A AI (ng/1) 2 Al 2 Al 2 Al 2 Al
DU AL 5 35 (mg/1) | 0. 000245 - 0. 00024 it -
1, 1= Juozfly (mg/1) | 0.002 A - 0.002 Aiifi -
vA-1,2-Y" Jmuzfly  (mg/1) | 0.004 A - 0. 004 A -
DVA=3= & 8% (mg/1) | 0.002 A - 0. 002 A -
SASZELES (mg/1) | 0.001 A - 0.001 Aiif§ -
N JrnzFLy (mg/1) | 0.003 A - 0. 003 A -
NP (mg/1) | 0.001 A - 0.001 Aiif§ -
1, 2-Y" Juuzjy (mg/1) | 0. 000445 - 0. 0004 A]if -
NvA-1, 2=V Janzfly  (mg/1) | 0.004 A - 0.004 Al -
1,1,2-b)ymuzgy (mg/1) | 0. 00064 - 0. 00064if -
Lz (mg/1) | 0.01 A - 0.01 A -
1,1, 1-})/mnzhy (mg/1) | 0.01 i - 0.01 i -
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KR (‘C) 21.8 23.2 15.7 16.8 15.5
418 Y SRR WA i o S £ 1 CERERs; YRR
FLA () FI LR 5§58 R 55 R 55 e R FH LR
B 0i9) 50. 024 50. 024 11.9 50. 024 50. 024
2= FWAVE WA= (ng/1) 2 Al 2 Al 2 Al 2 Al 2 Al
CxAAI (ng/1) 2 Al 2 Al 2 Al 2 Al 2 Al
DU AL iR 3 (mg/1) | 0. 000245 - 0. 0002A7if5 - -
1, 1= Jnozfy (mg/1) | 0.002 A - 0.002 Aiifi - -
vA-1,2-Y" Jmuzfby  (mg/1) | 0.004 A - 0. 004 A - -
DVA=2=F & 8% (mg/1) | 0.002 A - 0. 002 A - -
SASZLLES (mg/1) | 0.001 A - 0.001 Aiif§ - -
SPAEES 0 (mg/1) | 0.003 A - 0. 003 A - -
NP (mg/1) | 0.001 A - 0.001 Aiif§ - -
1,2y Juuzhy (mg/1) | 0. 000445 - 0. 0004 A]if - -
NvA-1, 2= Jenxfby (mg/1) | 0.004 A - 0. 004 A - -
1,1, 2-b)ymuzpy (mg/1) | 0. 00064 - 0. 00064 it - -
MLz (mg/1) | 0.01 i - 0.01 A - -
1,1, 1-})/mnzhy (mg/1) | 0.01 i - 0.01 A - -

{ES)




=

1—8 FIRKERUKAMS FR-EXR(11AH)

ERAK Hh

. e FARKHE  HK B H#iR
BKFEH R H25. 11. 07 H25. 11. 14 H25. 11. 21 H25. 11. 28
R 09:00 09:00 09:00 09:00
KA AiT H I I I I

A 5] i) i) i}
RN +i 5 +i 5 +i 5 +i 5
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BRI () 13.8 6.6 9.9 8.9
K (C) 14.3 10.3 10.0 9.5
S8 CERER: 2 (45375 1] SRR SRR
R (IE) FHHELR 1 R 55 R 55 R
B () 50.0 LLk| 50.0 LLE| 50.0 BLE| 50.0 LIk
2= AFWAVR - (ng/1) 2 ES 2 ES 2 ESC 2 ESC
VA AIYV (ng/1) 2 ST 2 NG 2 ST 2
DU Mg Ak 35 (mg/1) 0.0002 A - 0.0002 Aiifi -
1, 1=V Jnnzfy (mg/1) 0.002 A — 0.002 A —
vi-1, 2=V Junzfly  (mg/1) 0.004  Aifs - 0.004  Aifs -
A= 0=0 % 0% (mg/1) 0.002  Aifs - 0.002  Aifs -
7h7ymnzFly (mg/1) 0.001 =Kiif§ - 0.001 A -
NPAEES (mg/1) 0.003  Aif - 0.003  Aif -
_oRr (mg/1) 0.001 =Kiif§ - 0.001 A -
1,2-Y" Jnnzfy (mg/1) 0. 0004 A — 0. 0004 AJiii —
NvA-1, 2=V Jenxfly  (mg/1) 0.004  Aifs - 0.004 i -
1, 1,2-})yunzyy (mg/1) 0.0006 A — 0.0006 A —
ks (mg/1) 0.01  Aifs - 0.01  Aifs -
1, 1, 1=} Junzpy (mg/1) 0.01 A — 0.01 A —
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e (C) 8.8 9.2 6. 1 2.5
K () 9.5 7.2 6.0 5.5
S8 SRR SRR SRR SRR
A () FIHELR G G 55 R
B (BE) 50.0 LIk[ 50.0 LiE| 50.0 BLE| 50.0 LIk
2= AFWAVR - (ng/1) 2 ES 2 ES 2 ESC 2 ESC
VA AIYV (ng/1) 2 ST 2 2 ST 2 EST]
DU Mg Ak 35 (mg/1) 0.0002 A - 0.0002 Aiifi -
1, 1=V Jnnzfy (mg/1) 0.002 A — 0.002 A —
vi-1, 2=V Junzfly  (mg/1) 0.004  Aifs - 0.004  Aifs -
A= 0=0 % 0% (mg/1) 0.002  Aifs - 0.002  Aifs -
7h7ymnzFly (mg/1) 0.001 =Kiif§ - 0.001 A -
NPAEES (mg/1) 0.003  Aif - 0.003  Aif -
_oRr (mg/1) 0.001 =Kiif§ - 0.001 A -
1,2-Y" Jnnzfy (mg/1) 0. 0004 A — 0. 0004 AJiii —
NvA-1, 2=V Jenxfly  (mg/1) 0.004  Aifs - 0.004 i -
1, 1,2-})yunzyy (mg/1) 0.0006 A — 0.0006 A —
ks (mg/1) 0.01  Aifs - 0.01  Aifs -
1, 1, 1=} Junzpy (mg/1) 0.01 A — 0.01 A —
e
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RN +i 5 +i 5 +i 5 +i 5 +i 5
| JEHR N N N JEHR
e (C) 5.0 7.5 3.6 4.7 3.9
K (C) 4.8 6.8 4.2 4.9 5.9
S8 SRR 2 (4,375 1] C=REPe R IR . SRR
A (PIRE) gl 55 R 55 R R 55 R
B (F) 50.0 LIkl 50.0  BAE| 50.0 BLE[ 50.0 LIkl 50.0 Pk
2= AFMAIE WAd-w (ng/1) 2 ESC 2 ESC 2 ESC 2 ESC 2 ESC
VA AI YV (ng/1) 2 A 2 2 4 2
bR larES (mg/1) 0.0002 A - 0.0002 Aiifi - -
1, 1-¥" Janxfly (mg/1) 0.002 Kiif§ - 0.002 A - -
VA-1,2-V" Junzfby  (mg/1) 0.004  AJifs - 0.004 A - -
S A=0=0 % % (mg/1) 0.002  AJifs - 0.002 A - -
7h7ymnzFly (mg/1) 0.001 =Kiif§ - 0.001 A - -
NPAEES (mg/1) 0.003  Aif - 0.003  Aif - -
S (mg/1) 0.001 il — 0.001 A — —
1,2-Y" Jnnzfy (mg/1) 0. 0004 A — 0. 0004 AJiii - -
NYA-1, 2=V Janxfby  (mg/1) 0.004  Aifs - 0.004  Aifs - -
1, 1,2-})yunzyy (mg/1) 0.0006 A — 0.0006 A — -
ks (mg/1) 0.01  Aifs - 0.01  Aifs - -
1, 1, 1=} Junzpy (mg/1) 0.01 A — 0.01 A — -

ES)




£ 1—11 FRXEFRUKOHSE HR—EBEXR(2A)
ERAK Hh

. e FARKHE  HK B H#iR
BKFEH R H26. 02. 06 H26. 02. 13 H26. 02. 20 H26. 02. 27
R 09:00 09:00 09:00 09:00
KA AiT H I I I I

A i) i) i) N
RN +i 5 +i 5 +i 5 +i 5
| N JEHR N JEHR
e (C) 1.0 1.2 3.5 5.8
K () 3.6 6.6 4.8 8.2
S8l 2 (4,375 ] 1 (4,375 1] SRR WRIR (1%
A () 1 R G G FHHELR
B (BE) 50.0 LIk[ 50.0 LiE| 50.0 BLE| 50.0 LIk
2= AFWAVR - (ng/1) 2 ES 2 ES 2 ESC 2 ESC
VA AI Y (ng/1) 4 4 4 3
DU Mg Ak 35 (mg/1) 0.0002 A - 0.0002 Aiifi -
1, 1=V Jnnzfy (mg/1) 0.002 A — 0.002 A —
vi-1, 2=V Junzfly  (mg/1) 0.004  Aifs - 0.004  Aifs -
A= 0=0 % 0% (mg/1) 0.002  Aifs - 0.002  Aifs -
7h7ymnzFly (mg/1) 0.001 =Kiif§ - 0.001 A -
NPAEES (mg/1) 0.003  Aif - 0.003  Aif -
_oRr (mg/1) 0.001 =Kiif§ - 0.001 A -
1,2-Y" Jnnzfy (mg/1) 0. 0004 A — 0. 0004 AJiii —
NvA-1, 2=V Jenxfly  (mg/1) 0.004  Aifs - 0.004 i -
1,1, 2-p)ymuzhy (mg/1) 0.0006 A — 0.0006 A —
ks (mg/1) 0.01  Aifs - 0.01  Aifs -
1,1, 1=}y ymuzhy (mg/1) 0.01 A — 0.01 A —
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